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Passage:

ba:— sefifarad TRt ufdwar uyEt s araere: Sfidary Iw fuar forad |

TaETEl A9 AT TEEYTSA 9deegd| Ty fﬁ’fﬂ'ﬁm TATTAHT:

qai=a| T A9 FA AGIEE AT TEEEa| T AEe RS aree

AT a5 higeT: TR ST 30 99 SH=ad) T5H: § F=59
I T A e, FIHTAT:, FEIT:, eI w1 gai, 95y

e W | 1A faen U I S 9uTed °F HEedT ad | 99
=Y FIhAT FaTrasd ST a5 TS A | I -
A TS ATA-SEER A e =A5g: 9990 E0d-0: =1 541 3@ |
T A1 A A A, T AaAe- Aol S-S T

(224':502:514350 TR T e el
A SR |

B i

c US|

D agr:1

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

da:- sefifarad TemRt ufdar uyEt s arae : Sfidary Iw fuar forad |

TAETET A FE AT 9aeegd| TSI fﬁ’i‘w EGECnEaE
qai| T A9 FA AGEIET AT TR T AEe B
TS TaEsoAMT shigeT: TR ST 3 09 FH=ad) TsH; G #9597
T 5 fAedn e, T, FE, At A a3, 95T
EEIERIEEFRIREE) ':Iltjdrr-d | ST M SlhFaE add, 7 a=

e WA | 1A T U T S aae = s a6d | 99
=Y FIRAT FATESd TR a5 ST A | I -
A Teh-ATA-F R[] &l a5d: Odded: ®Yded: o1 5H: HATEq |
T T AT A A, T JTeAea- JTeiie S-S T

Q.No: 2 T . yafay?
2462543S1 RS ’
A ISHT |

B W

Submit
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¢ af¥yl
D ITSYSAT |
Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

Jipa:- feffefed Tet Ul uyHt fAsweaTere Na: Ifadany S frar fored|

fagm@r T FEA TR qaed| TS S aae
qa=| TerE A ,W SATAFT AT TEEE | TR AR
TEET fag=T e T AR 3T O S| T FEEF-‘.T?T
T AT: AT AR, FEwEn, FE, S A gEta, sy
T FEd dRel At | A e R A, 9 w6
TerETEe W | w1 T v TS Ao T ?:Mmunfcrraﬁ%r] g
=0 SIRAT HETES TERETSAE WA T s A | Jaed -

AT T ST SR AT e a5d: O EUE-: J1 S AT |
TEI 97 AT T xﬁr_v;r T - ATHIE S-S T
Tt At st ety gfaeer F4 T |

24'\1602:5‘1352 ST PR I T PRI P 202
A oyl

B fa=m

c i

D foemi

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

- ehfefad et ufddr uyt fAderaEs aa: fadary 3w fuarn faedl

AT IUE AN FA SAGIET SR TIAA| AR TR
AT A= dﬂ'l-:::n: T ﬂwﬁﬁaﬁmml EEICE Fg?TcF-‘.T?T
T AT: AT AwTE, FEeEn, FE, e A Eta, sy
T FEl del SAtd | S AT e A, w9 w6
T W | ST T U T Sk ia A ROl 70 | 99
= SIRAT FATEST TSI YA T TS e | e -
A T A SIS F FTe T8 ST 0 a1 S ST |
TEI 997 AT T Zﬁr_v:r T A A - ATeH TS =a-SaE AT
fa’—:&'r T STy Tﬁzﬁaﬂ_%irduﬂ-.li r_{rjlr'rn |

(22‘.1'\1602:5‘2353 T ST FH g
A raq|

B Pl

c adi

D T

Correct Ans : D
Subject : Sanskrit Bhasha 02
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Passage:

ipa:— eNffd eIt ufewn uym fAdeaes Neg: Ifdary S far ferad|

TaZMT A4 TEd O 9aeed| TEEisd fEEe T I AATTAE
qai-d| IeUTE T FA AGEEY AT TEEd) T HEe AR
T T 9T T AT 3T T S| T =

ua g vyt e faaet we v aaf |

T AT AT AR, T, FE, S A0 amt, s

e WA | 1A faen U T e 9ued F hR J6d | 99
= FIhAT FRTEsd ST a5 ST A | JEEaedd -
A TeF- AT - A A &l a5d: 99a: ®qded: a1 540 36 |
T 9 AT T 4T T Amdedd- JTeHiiE S-S T
et AT ety fters Afeaere At |

S g O S UG A1 S T | 3 B AT
A Wl

B g

C @l

D faftrfers)

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

HFa:- seifarad TemRt ufdar uyEt s areer: 3fidary Iw fuar forad |

TAETEl A T TEAEYTSA aeegd| TS ﬁ’i‘m TAHEAHT
ai| T TN FA AGEEE AT GEEE| T AEe AR
TSI TaE=oT shigeT: TR ST 3 a9 S=ad) T G #9597
TH YT i, TR fag wee: Fe A wad |

T S fAdAn e, I, FE, At A a3t a5
T WEA TREl SArd | e e R a0, a9 w6

e WA | 1A T U T S aae = s a6d | 99
=Y FIRAT FATESd TR a5 ST A | I -
A Teh-ATA-F R[] &l a5d: Odded: ®Yded: o1 5H: HATEq |
T T A 7 A, T Amaedd- JTeH i S-S T
et AT ety fates AfEers At |

Q.No: 6 foemaaH - 3 favgare A

2462543S5
A faren 59 T@H1
B faren wa s@mI
¢ faremai se)
D faemd sem)

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

Jipe:— eNf eIt ufewn uymT fAdeaTars Neg: Ifedany S far forad|
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THEET T AT OHEYTE 9aedT| TAEIsy ﬁ’r;‘i'mtr TAGTAHT

qatal T A9 F AT SR T2 TR e

T T T W ST T T S| T R
o FAT: AT T AwE, FeEn, FE, S i s\t sy

farermereAT mEet 9ael STeE T | Fiaae e SR a0, 79 a9

T W | ST T U T Sk iEt J ROl a9 | 99
T SIRAT FRTERE TERETSA WETE| 75 fasiar A | e -
AT AT -SRI ] e T8 949 B 0d-d: =1 541 58T |

Q:No: 7 T Tad TTgaf - o F: T

2462543S6
A fa
B yTd |

c sl
D i

Correct Ans : D

Subject : Sanskrit Bhasha 02

Passage:

da:— seifafad TeiRt ufdwar uuE s arasr: 3fidary Iw faar forad |

TIETET T AT T Gaeogd| TS ﬁ’?mm TAGTAHT
qai-q| ITU™ T FA AGEET S TIEEA| A TR
T AT T TR ST 30 0 S| T R
il?r"n’: h"j:” ﬁr:{-l&“ﬂ:_ 'Dé'\yl'zhl‘-ﬂl. i—é_‘)(c"-ll = Tﬂ‘-ﬂd‘-’li: 3TF':I “dlrﬁ'i%]"j-q
T Fed1 dEl SAtd | e AT e A, w9 w6
T W | 1 T U T Sk OTa A ROl 79 | 99
= SIRAT FATEST TEEEATEAE 99| T TS A | e -
A - ATA-SR=ER A] #Ted T8 9490 ®qd-d: =1 541 3@ |
T T A A A, T TeAc- ATl S-S T

Q.No: 8 fargeT - o &7 fvfd?

2462543S7
A 00
B focfam
c wih

D Tgffi

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

ba:— Seffarad T ufdar uymr fiseararer: Ifday I frar forad |

TR S HRI AAAHRS: |
TR A ek Gt ||

Q.No: 9 Tt SARERS: uafy?
2462651S0 Rl ’ ’ :

A SITEIoRY
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c TRl
D g

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Hda:- srefarad Teret ufdd uu fidsearaea: Ifaaar Iw fwr ferad |

TR S HRI AAABRS: |
TR A ek G et ||

QNo: 10 perrorer =fy @ 7 fuifas: 2

2462651S1
A T
B it
C Gl
D et

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

HPa:— fefifared Ter ufdar uymt Rearem: Ifdarr Sw far forgd |

e i 9 AARERS: |
TR AT e Garheia ||
66515y T M AR GBI 2
A RELEIRIC]

B i

c 73 fRud

D wa R

Correct Ans : A

Subject : Sanskrit Bhasha 02

Passage:

ha:— TR TRt ufeen uemT Ridedseg: Ifiaany S o ferad|

T U 8 RS |
TR A e G| |
giﬁzsﬁisa Ha: S : FE: 2
A agey

B FHYRY

c T TGy

D Tl

Correct Ans : C
Subject : Sanskrit Bhasha 02
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Passage:

ipa:— il yair ufdar uymr fAserrasrg: Sfadqaay I frar foraal

TR S H8 PR |
TR A ek GaTh et ||

QNo: 13 ify sorey qaf wemfy 2

246265154
A FHaq
B T
c v
D R

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

Jidba:- refifafed yest ufdw@n uymi fibearaer: Sfadany IW frar foraa

TR W 8 AR |
QRITERY IR Rt gaarmatia |

QNo: 14 ey gere wafarenf-

2462651S5

A &Ry
B Lk
c L2CL
D oA

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

e - efefe yest ufd@r uymt fawerrasr: Sfadaay W frar foraal

TR T &I A GHRD: |
TR AT e Gadrhara ||

Q.No: 15 W .
2462651S6 T T |

A I B

B THAT B
[ Y B
D IS B

Correct Ans : C

Subject : Sanskrit Bhasha 02

giﬁggq; S I o -
A @

B T oy

c ot Polf

D ELRC

Correct Ans : B
Subject : Sanskrit Bhasha 02
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QNo: 17 - o s W st R

2462922
A Xl
B gh:
C PO
D gar:

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 18 ,_ ___ . 179 i Ud
3462989 Al 9 T S Redwim wgfd ug fe?

A T
B o
C aq
D ufy

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 19 TR 3fa U & Um:?

2463037

A ¥y
B Sy
c ¥
D 53

Correct Ans : C
Subject : Sanskrit Bhasha 02

QNo: 20 g arpenty Wit~ T Bl

2463090
A @ref~r
B fcicu)
C @Ry
D wrefd

Correct Ans : D

Subject : Sanskrit Bhasha 02

QNo: 21 farorg: Ferr- € el

2463091

A R
B R
c R
D Rrgm

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 22 . : : . .
3463379 TP yriRrTd urwt ffas aefal ww 3fd: s ik

A ST
B SRR
c agife®
D o= forars

Correct Ans : C

Subject : Sanskrit Bhasha 02
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Jhvo: 25 et Rt el WAl 1 S e iR BRAE ot I qail W SRR

A Tuar Rs

B Jafdre i Rrsray
C Iaw reH Ry
D TS T RSy

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 24 o, et ST ol R S -

2463560
A T YT TART:
B T~y AT TERT
c Yo FIYTAT YT
D weT: |4 fywe:

Correct Ans : C

Subject : Sanskrit Bhasha 02

24'\:5(;52&351 AIR(AIl India Radio) FaedT RFT: Ramerda: Sriw: TuH THIRaw $7vad -

A 1937
B 1938
C 1939
D 1936

Correct Ans : A
Subject : Sanskrit Bhasha 02

QNO: 26 e r: eyt et TSR, SR -

2463660

A yTyory
B FETH
c LELL
D LLaC

Correct Ans : C

Subject : Sanskrit Bhasha 02

QNO: 27 ey Ureerata i THRT: W | -

2463809
A BTN TSTHHAUR A BT

B ARG I BT HeW BN |

C 3¢ A9RfHUTITT: (authentic language) TSUTS-RT ATHHY Hf&T|
D 3< fenfd: seienemar adafa |

Correct Ans : D

Subject : Sanskrit Bhasha 02

(22;1'\‘6(;82385 AT Wfehar - IUTTHRG (Process approach) d&IH i
A Fad yfrararg

B ot gfom

c Iud uftearai uftomd 9

D FaXEwI&RWART

Correct Ans : C
Subject : Sanskrit Bhasha 02

SIS e T ST ST R T @ A et @, et whan v ey

A fafadtan
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B Aguanfian

C e wdar
D SUARTETH UM
Correct Ans : D

Subject : Sanskrit Bhasha 02

S et RIS ST T SRR a2, it 3 e wr?

A YIoT
B YTYOI
c LCEE
D SicEE

Correct Ans : C
Subject : Sanskrit Bhasha 02

QNo: 31 oo & g T A 2

2460563
A 9% a # 3 afdat w71

B Tyed 3aa B STHI UgraT 21
C IHST P11 S THST 4TI

D JUTIFT |7 TeT|

Correct Ans : A

Subject : Hindi Bhasha 01

2ac0582 VU TUTE:
A qd e

B 3 T

c Tzt e

D S el

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 33 .
2460051 SR TSR H DI & BRI BT ToT-RIefor 1 1R ST ST MR-

A TS
B s
C fafea
D TANTTHS

Correct Ans : B

Subject : Hindi Bhasha 01

QNO: 34 et e % e e § -G TR TS P T B 2

2461080

A e BT 3id ufkafdd BT
B HE B 3R TG

c FEF BT U WMeal F BT
D HET B qreer

Correct Ans : D

Subject : Hindi Bhasha 01

QNO: 35 o ¥ § arervr e ) e Ry H-at 22

2464765
A STTHA-fRTA Ay
B weRIgr faft

C o faftr

D fem fafer
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Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 36 .
3464900 1 T 8 ST 1 e WO F et Tt @ > I 7 e @2

A AT &

B e

C SJde I |

D TEHAHI TF SJede IaT |

Correct Ans : A
Subject : Hindi Bhasha 01

S, PR
A HETeRl BT HHE

B G| BT WY

c quif &1 TgE

D AT BT

Correct Ans : C

Subject : Hindi Bhasha 01

QNO: 38 oy ¥ et Rreror o7 T ST B2

2465097

A Fad gTa®! B IRIT W S WY A BT U BT

B Faq YRTHATE qTET B Gl UG AT

C FId FTAD| Bl WR & ARIG-AIRIE BT 3T BT

5 IADT Bl TR F HRIG-IARIT BT WA BT, S| B S @i & |1y

AT BT 3T BT Td YRTYGTE T &Y Tgar Wei= 1
Correct Ans : D

Subject : Hindi Bhasha 01

QNO: 39 it & o STRIRTE R1efT @ T e T 7

2465322
A e &1 uga wwa aet wadt sryfsat 1 yE FRAn
B TG PT UTo-YRa® $I Yargyul aiid A ug-n

C Hrar &1 Fem | Rrerr w1f & R wEgdS T g
D ol BT Uga WH ot daeh arfFal 1wt S

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 40 .
24605572 s e H U1 vgia wHg 1w & ¥ 59 mem S uanT 9duem ST Tifeu?

A TAHUE BT
B UY-I2A FT

c | ST B
D UTST-YIS BT

Correct Ans : C

Subject : Hindi Bhasha 01

QNO: 41 o ¥ § F-T1 T F BT 1 T T R 2

2465627
A fRgror srgva
B SRR YT
[ i

D WMarw 2=

Correct Ans : A
Subject : Hindi Bhasha 01
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QNo: 42ty 3 § wr R § T 81 3-

2465668
A PR & ufads
B Frd-grme ¥ g3
C agR § uRad=
D U SR =@ & uRads

Correct Ans : A
Subject : Hindi Bhasha 01

Saenazs T R S 1R A &2
A SRS FATHRT U

B HTEING TSI UTS

C UifI® THRoT Urs

D o= s

Correct Ans : D

Subject : Hindi Bhasha 01

QNo: 44 o ifors 3 el 1 arifeor g url & = v &2

2465849

A IuHIFTHS
B THTHS
C ITATES

D [ERIRE]

Correct Ans : D
Subject : Hindi Bhasha 01

gﬂs‘zﬁfz U SO P F =l ) AW Siftreafdd F 3w 1 & RN 3Rd fbaredry Hedt ¥1 o Fafifd & § ge@ arer gwiet bl ara 82

A HHMER-UF $T I/ BT
B T} BT AR-SIR J dre
C FET B FA-ANABR T
D faftra ofvfRufoat # Harg-srgrrft s

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:
e R fRE T T #Y UgeR R U U & Ged S SaR e faded &1 99 $ifvie-

e A & I $ T Iad Ty 9 21 & e GE-g: T, §9I-31 BT 7 g Iha €, S Q TARY ST BT $ifiep At Bl €1 el bt fene-shteq A, pve @
PuF-siad ¥ e T §, It oy sfodt & &Y, e Wfg-orTq # vaw urd & g5 W, g8 urde fiie S 81 59K AFaar 9 faRme ofR faRTe Sla) aeRd AIMG S tR
SHFIBR °7 W ¥ 1 Ta Sifd & e R SR 3R, S 3R I Tl ITF SRR T 31 WIS T SY A AR I AT TR ST U &) Sl 81 WA 98 WG Bl Adbal 8, S
el ¥, Se-uorl , Us-Uidt & =g &t oreq 1 oA 1 &t ¥ THA §&d BT ST Ude S SiT TET 81 89 T8 8 & BRI HIFG ST & ORI B Sue Y ot urdt
¥, 3% qu-3:T, &Y-[uie & e faaferd B1d ¥ TiRaeR &1 GdeT SiTq Siiedd AR e 2ia1 ¥ U= WIiRaaR 37 98! qavl § f6 I9% uial # Snadmdr 81, S9edT
g &1 are & Ty AW A RIMUG 81 T 81 b IUS UG T TR BI 30 g MG el gl

2;1'\16()6:5456650 IR T ¥ SFER, W MG e dwee P sl
A Had feml F

B Faa dqfel F

C Faa urgsii F

D qHa &

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

=T R foT 7T TR @Y ugaR U T Ul & Wed Ifd SaR a1 fadwed 1 99 Sifere-
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feTa & & g™ F forg Tod Ty 73w 31 59 e GE@-3:@, -39 &1 °9H 909 96 ¢, SU ¥ AR ot BT oift At gt o1 el &t fenif-shen 9, v @
FB-Sa § Rt 1 8, I o it & T, AT Tiea-orTq # 9o urd € a8 We, I uried fie ST 81 sERY Aadr SR 3R ofR fajie gieR I A W W)
PR o1 S B 1 AT S € A8 =R O SR, WS SR Ao it SUF SRHR H 31 W §1 I A ARG B ST WR AHIST U € W 81 Wit a8 oiig &) ddhel 3, S
el 8, Ze-uerl §, Ug-tiel  fiza P M BT G2 BT et 8| TG BT BT S Y& ST o el & | §H AT BN $ BRI Hd W b WIOr & 31ge Y 31 U
?, 3% Q-3 9, gy-fawre ¥ el faaferd B1d ¥ TiR@eR &1 GaeT ST sriedd faaR e 2ia1 31 I WIiadR &1 98} qavr § i 39% yidl & Smudsdr 81, SUd!
Iz B ST & Iy VAT YA RATG 81 T 8 o6 39 H1d Ul Woft &t Su € uid wefi i

34'\‘6‘25457651 TR TR F TR IS, T aiie Fee suf 2, iy @ oo QR Y $

A FY-frTg 1 Yo wHE o g
B WIGT BT SHTIMH-USH T 81 urel g1
C AYeTSH BT THaT gt AT
D Fi-Rvre @7 ¢ W U §1

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

e R fRE T T &Y UgeR B U U & Ged S SaR aTe fawed &1 99 $ifvie-

e ¥ & T & o Tad THiv e 21 B0 e @-3:9, TO-31 31 0F Y 9ad §, SO I gER) ol &1 Sif At g 71 el @ fammif-she 9, Fve @
FuG-olia ¥ Rt w1 8, I o sfeat & e, Afee1 Tife-orTq & waw urd € ag 3, g urdied fire S 81 guRY Aadr SR faRme ofk fajre gieR ned A wifd W
ISR °7 W ¥ 1 WA Sifd & e W SR SRR, S 3R I T ITF SRR F 31 WIS T SV A AR I AT TR ST U &) Sl 81 Wi 98 WG B bl 8, S
gxgaft , So-uorl , Us-Uidt & favg @t ored 1 oA o1 <t ¥ HHA §ed BT S Ude S ST 6T 81 89 TI8 8 & BRI HFG ST & ORI B S0 Y St urdt
g, 3% YE-3:9, gY-fawe & sarel faferd 1d €1 Wita®R &1 Gae-T s 3iemphd IR Rig 811 21 = Tita®R &1 98 qav ¢ i Su% udl & saudd 8, Iqa!
faza & enre & Ty T Ao AT € T | b 3% Wid udes urolt &Y 3o € uig wieta €

Q.No: 48 .
246655652 STAT TR & SFHR, AGfdD WRADN I8 , o

A faarem @1 6t vawu

B T GE-g@ B Afdreafad 4 @1 @

C 30+t Fferat ®Y URifE srgarg a1

D st & fomior 7 frelt yew Y 3fe T 1

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

e R fRE T T #Y UgeR R U U & 9ed S SaR e fawmed &1 99 $ifre-

e A & 7w $ T Iad Ty 7w B1 8 e GE-g:T, §9I-39 &1 O g Iha €, SU § TARY ST BT i At Bl €1 el bt e -shteq 3, v @
PuF-oliad ¥ fatt w4 &, St oy Sfodl 3 e, AT wifew-or & o= Urdl &1 9 W, g8 uriad fiie ST 81 $ARY Aradr S R $fR favTe gle Eed AMe Sifd R
SHFIPR O7 W ¥ 1 Ta i & e TR SR SR, TS 3R I Tt ITF SRPR F o W T SY A ARG F SAT TR ST U &Y Sl 81 WS 98 WG B Abel 7, S
el , Se-uorl #, Us-Uief & fava Y oeq 1 oA 1 <t ¥ THA BT BT ST UIE S SiT TeY 81 89 TS 89 & BRI HIFG ST & ORI B S Y ot urdt
T, 37 qu-3: T, gY-[wie I e faafeid B1d ¥ SRR &1 SaeT SiTq Siedd AR e 2ia1 ¥ U= AIiiadR 31 96! a4l § 6 39% uial # w81, S9eET
g &1 e & Ty A A RIMUT §) T &1 b 39S UG T TR ST 30 g1 MG el ol

S s ST TR 3 SR, Wk aE ST @) 7w ¢, fore Y o a1 < T 3k 21
A Faa Ty d

B Faw ge-unrt &

c e Fg-het &

D ot &, de-uerdt &, dg-ohel &

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

R R foE 7T TR #Y UgaR B Y Ul & Wed Ifd SaR a1d fadwed 1 99 Sifere-

e ¥ 8 7w & oy T wHiv mgw 1 56 e E-3:9, §-31 &1 7 Y Uad §, SO I gUR) offel &1 Sifi At g 71 el @ faemif-sha 9, pvw @
PuF-ofiad ¥ faTt w9 8, I oy Sfdl 9 2T, A Aifewd-orTq & o= U1d 81 98 W, I8 uriad fiie STl §1 $ARY Aradr o = $fR foRTe gle 9w AIMg Sifd )
PR U1 S B 1 AFE S € 8 W) SR SR, WIS SR A Wit SUb SARBR T 311 W §1 X A fIRg B AT W Y U € W 81 e 98 WG ! Abel 3, St
uggait #, So-ueRt §, Ue-Uiet # favg F oman &7 o= 1 It B TG 58T BT S T S O AT 81 8H AT 8 & HRUT AT S b WIORIT H 310 B S ur
g, 3% qu-3: W, §Y-[auie ¥ e faafed B1d ¥ SiR@eR &1 SaeT ST sfiedd AR e 8ia1 31 U= AIiRadR &1 98! Tl § 5 39% uial # g g1, S9!
g &1 e & Ty AW A RAMUT 81 741§ b 39D HIG T UTOR 1 30 g1 |G el ol
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Q.No: 50 : o
246655654 FEfafad & § S1F-91 Wsg -9 BT 98t IS8R0 32

A @t
B =
C ISR
D RiuE

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

e R T T T #Y UgeR OB U U & Ged S SaR e faded o1 99 $ifie-

e A & I $ T Iad Ty 9 21 & e GE-g:T, §9I-31 BT T g Iha €, SU Y TARY ST BT i At Bl €1 el bt fene-shteq A, e @
PuF-siad ¥ e & g, It oy sfodt & &Y, e Wfg-orTq # v urd & g5 W, a8 urde fiie S &1 g9RY Aaar 9 fasme ofR faRTe Sle) aeRd AMG S TR
SHFIBR °7 W ¥ 1 Ta S & e TR SR SRR, TS 3R I Tt ITF SRR F o1 WIS T SY A AR I AT TR ST U &) ST 81 WL 98 WG Bl bl 7, S
gggaft , Se-uorl #, Us-Uidt & fava &t oreq 1 oA 1 &t ¥ THA §ed BT ST UIE S SN TET 81 89 T 89 & BRI HIFG ST & ORI B S Y ot urd
B, 3% YE-3:, gY-fawe & sarer faferd 81a €1 Wita®R &1 GaeT s $iemphd IR g 8id1 21 = WiRa®R o1 98 qav ¢ i 39% udl & s 8, I¥a!
g &1 arem & Ty AW ARG §) T &1 b 39S UG TP TR I 30 g MG el Bl

Q.No: 51 T & & o Hif-
2466556S5 o S P

A fo=m
B erar
C T

D et

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

R R fow 7T TR @Y ugaR U T Ul & 9ed Ifd STR a1 fadwed 1 99 difere-

e ¥ & 7 & oy T wHiv e 1 56 e @-3:9, -3 &1 7H Y Uad 8, SO I gUR) ol T Sif At g 71 el @ faemrif-she 9, gvw @
PuF-ofia ¥ faft w4 &, St oy Sfodl @ e, AT Aifew-orT & o= urdl &1 9 W, I8 urfad fiie ST 81 $ARY Aradr o R $iR faTe gle hwd AMe Sifd R
PR T S B 1 AFE S € 8t =R SR SR, WS SR U Wit SUh RBR H 311 W1 &1 X A fIRg B AT W HTSY U € Wl 81 e 98 WG ! dbal 7, St
ggaft , Se-uerl , Us-Uidt & faxa &t ocl 1 oA X1 <t B THA BT T ST WIE S SN Te) 81 89 TS 8 & BRI A4 ST & ORI B S Y ot urdt
g, 7% gu-g: W, g¥-fawe § Sarer faafid 8 1 Wi R &1 GdeT siiq Siendhd AR g a1 81 9= AR &1 Tl @il § f I Hial § Tdehdl 8, SHbT
faza & offcdT & WY VT WA RATUT g1 7 81 foh 9 U1d Udss Woft & o0 & id Ul i

Q.No: 52 : : _
246655656 IUe TR & YR YUid: T HYA BT TG BT

TH U9 €1 & BRI TFd SR & WIET § oA &Y 719 U §, 39% qa-5:3, gv-faure @ wurer faafen 8 €1 SiR@eR &1 Wdenn wiq siemgpd
A farar R gt 21
5 mnﬁm;ﬁ%mmm%uﬁm‘fﬁ&rﬁaﬁmuﬁ%}Ww@'sﬁ@tmﬁaﬁagﬁ%‘lmﬁwm%ﬁwwa&&mﬁw
g g 81
TH TS § & BRI TG SR & WY § e Y 3if¥es urd §, 3% gu-g:3, 7u-fure & o R 919 81 aftaer &1 wde s shened
c R Rg @ dar 1
TH A §H & SR TG W 5 WIOrET & 39 & offte ur §, S99 gu-g: 4, gu-faurg ¥ wurer faafen 919 §1 IiteeR o1 Wden s
° arlteera fawary R g 31

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

R 2 fau TU TR #Y ugaR B Y Ul & Hed Ifd SaR a1d faded B 99 difere-

ffeTe ¥ & 7w & oy T wHiv w71 56 e E-3:9, -39 &1 7 e Uad §, SO gUR) o &1 Sifie At g 71 e @ faemif-she @, pvw @
FB-Sfa § Rt R 2, I o7 Sfedt & e, AfepT Tied-or1q & waw urd € a8 Ae, I i fire ST 71 sERY Aadr ok faRme oiR fajie gie) I A Wi )
PR U1 W B 1 AFE S € 8 W) SR SR, WS SR Ao Wit SUP SARHR H 31 W &1 X A ARG B AT W ST U 8 W 81 e 98 WG Bl Abel 3, S
ugpait H, So-ueRt #, Us-Uiet F favg B e &7 %A 1 et B 1 TG 88T BT S T S SN T 81 89 AT 8 & HRUT AT S b WIORIT H 310 B S urd
?, 3% qu-3: T, gY-[wie ¥ et faafed B1d ¥ IiRaeR o1 SaeT ST sriedd faaR e 8ia1 31 I=) WIiaaR &1 98} qvr § 6 39% uidl § Snaddr 81, S9!
faxa & SfTcT & A1y TN Ao RATTUT 81 T &1 o I UTd U WO B 370 g UTd Ui ol
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QNo: 53 ot ey 3 SIER FH-91 AT I 22

246655657
A U4 §GU BT ST W&l S1Tq o 21

B IR I8 WIg Bt APl g, S U3 &, $T-uerl §, ts-net § faxg &t eme &1 o= &= &t 1
c e | € 77w F Rig w9 gl A= 71

D T AR ST 78! A0 § {6 IS Ural & saraehar g1

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

P& PToI B UGHR I T U & Ta¥ IR IR a1 fabed T Tg Bifo-
FransR-uRym, sRd-ue W g 31

-, T-GPe HRIe ITDR 7

Afeat Om-yare, Bd AR wUS g1

FAoH w9, e RigwH g1

F i TEe , IRER) 39 9w &

& Ay | I & A a6t

QNo: 54 protufad  § Swiad Tei 1 S e ®r 2

2466719S0
A YR AT

B RAR

C PO BT g

D Ffy &1 g=t & ol g

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

FIERT: ST B UG UP T U F T IR SR A e $1 T PO
FrameR-uRe™, gid-te W <R &

-, J-GHT TG PR B

feat -aTg, BE ar AUS

oA W, e RigR g

R4 e TEE €, SRt 39 aw

§ Trquf | I & I A w3

gﬂ%%im Frffeaddshidape s
A of-a=

B -3

C B9 -aR

D - gaw

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

FEr: PToai Y UgdR U T U & Jad IR IR a1d fAbed 19U BIfve-
frameR-uRkem, gRd-ue W gex 7

gi-o, gT-gPe HEar AR 2

et IH-vaTE, Td IR AU B

o @GS, IV RGN 3
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P P TG §, IR 39 a9 Bl
B A | I & I e wdw

22:2;¥;52 SHR TR A%
A ARTUSH

B d

c &

D Afeat

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

e PToIiY B UgHR U Y UL & Jo SRId IaR Al facbed BT T Bive-
FramsR-uRym, gRd-ue W g 3

-, -gPe ARG TTHR

Afeat Om-yare, Bd R HUSH g1

oA W, W RigR g

F AP TS B, IeER] 3W AW B

& Ay | I 8 A wd @

3122%?253 SR T A PR S SR AR F
A Afear

B T Ft Folta yfasat

c TR B Ju f

D e BT ong qft

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

FIERT: FToAY B UGHR YF T UL F o SR I<R A faped &1 7 Fifve-
FremeR-uRy™, gRa-ue W e 7

-, J-HT TG PR B

Jfeat 0m-vare, Bd R HUS g1

o TG, QU RigRH 71

F e TEe B, IR 39 aw

ERCCEIE SRR RRSERET

QNo: 58 i + & Fferfld & @ B-1 W 22

2466719S4
A St HTT AR
B ggdife was

C ¢

D g ww e

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:
&R HToI B UgHR Uy T U & Ta9 3T IR A fAdbed BT T BIfTe-
FremeR-uRy™, gRa-ue W e 7
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-, g1-gpe A9l THR g
Fferat -waTg, HE ar AUSH g
o @GS, IV RGN 3

FRA fE UG ¥, IR T AR #
B T | I & Fr o @

QNO: 39 s PRI & TR 21z a1 T FIRIT-

2466719S5
A ST
B g
C ERuLC
D S

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

R B $Y UgHR I T U & Yed SFId IR At fasved w1 T Bifvre-
framR-aRem, gRa-1e R TR 31

-, J-HT TG PR B

feat -aTg, BE ar AUS

o Tg<, J9 g 3

F e TEe B, IR 39 aw St

 wrqufiy 1 q v € o v

QNo: 60 mpfey ey 3 ofeR, WIgufY @1 S M P 82

2466719S6

A CICT)
B Afeat
C RiLL ]
D EiEe]

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 61 The unit's digit in the product 81 x 82 x 83 X ........ x 89 will be:
2461500 TUFGA 81 x 82 X 83 X ........ x 89 T 3HTS BT 3 TI-

A

B 2

c s

-

Correct Ans : A

Subject : Mathematics

Q.No: 62 What should come in place of the question mark (?) in the following question?

2466847 4594 of 360 - y 1024 =2
Frfeiea v O waares fog (7) % w= W T e =itee?
360 = 45% -+/1024="7
120

A

120
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125

B
125
124
C
124
130
D
130

Correct Ans : D

Subject : Mathematics

Q.No: 63 Which one of the following represents the sum of the first n even numbers.
2467138

frafifed & § o ged n 90 GBIl & A $ axiar 31

n(n-1)
A

n(n-1)

n(n +1)
B

n(n + 1)

n?+1
C

n?+1

n?-2
D

n?-2

Correct Ans : B

Subject : Mathematics

Q.No: 64 The age of a man is 4 times the total age of his 3 sons. 8 years later his age will be twice the total age of his 3 sons. If the present total age of
2467248 three sons is x years then what is the age of the man (in years)?

TF G BT 1Y IS 3 TA &1 T 3R BT 4 T 81 8 IY 91 ITDT MY IS 3 T &1 Fl 1Y BT G gl
g 7 G @) A o o x a9 7, o fd B eng (It 7 @ g2

20
A

20

80
B

80

60
C

60

72
D

72

Correct Ans : B

Subject : Mathematics

Q.No: 65 Ifa:b=1:2,b:c=3:4andc:d=5:6,thena:b:c:d="7?
2467449
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qﬁa:b=1:2,b:c=3:43ﬁTc:d=5:6,aa:b:c:d=?

9:24:12:20

A
9:24:12:20
8:11:24:20
B
8:11:24:20
15:30:40:48
C
15:30:40:48
20:12:24:9
D

20:12:24:9
Correct Ans : C

Subject : Mathematics

.No: 66 7 b 3 .
3457470 If§= 5 and i then the value ofa: b : cis:

7 . b 3 . -
=—git—-==dra:b:cHEa=z:
9 c &5

7:9:15

7:9:5

7:9:5

21:27:42

21:27:42

7:3:15

7:3:15
Correct Ans : A

Subject : Mathematics

Q.No: 67 A right angled triangle having perimeter 120 cm has its two perpendicular sides in the ratio 12:5 Find the lengths of sides (in cm).
2467588

TF THSGI Py, frget afarg 120 I B, Y S @9 YTl FT UK 12:5 B1 yoneh @t darg (I F) 31 it

29, 30, 52
A

29, 30, 52

25, 26, 48
B

25, 26, 48

24, 25, 30
C

24, 25, 30

20, 48, 52
D

20, 48, 52

Correct Ans : D
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Subject : Mathematics

Q.No: 68 Twenty-seven years ago, @ man’s age was half his wife’s present age. The sum of their present ages is 90 years. What are the respective
2467742 present ages (in years) of the man and his wife?

ARG 99 Usd, TP MG BT 3G IUD! Uell B T 1Y bt 3n1elt ot | I e 31y b1 @iy 90 af 71 et iR Iuab! uelt &) A g (anf #) Fr 82

48, 42
A

48, 42

52, 38
B

52,38

54, 36
c

54, 36

46, 44
D

46, 44

Correct Ans : A

Subject : Mathematics

afg x +%= 5, x° +%Eﬂqﬁ%

25
A

25

23
B

23

27
c

27

28
D

28

Correct Ans : B

Subject : Mathematics

Q.No: 70 - fyhat should come in place of the question mark (7) in the following question?
2467872 0 — (7)°
p—1

(92 + @7+ (7P

HraferTaa wea 7 westarasd [eg (7) & T 9 T AT 91iau?

@2  _,
(9)2 + (7Y + (72

15

15
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5
C

5

2
D

2

Correct Ans : D

Subject : Mathematics

Q.No: 71 /4624 is equal to:

2467983
V4624 B W& &
24
A
24
23
B
23
68
(o]
68
75
D
75

Correct Ans : C

Subject : Mathematics

Q.No: 72 An angle measuring 91°1s:

2468092

910 HIT dTell HIVTE:

Acute angle
A

A B

Obtuse angle
B

Sffte o

Reflex angle
C

ferad Bror

Right angle
D

HHDIT

Correct Ans : B

Subject : Mathematics

Q.No: 73 What number should be added to each of the numbers 2, 7, 10, 25 so that they may be in proportion?
2468300

TS G- 2, 7, 10, 25 H HH-I T St S T1feT A1fs § Jwrare 8 |2
A 2
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3
B

3

1]
C

o

6
D

6

Correct Ans : A

Subject : Mathematics

Q.No: 74 The word 'Curriculum' is derived from the language
2468437

Teg WISAHH (Curriculum) g Hr § foram mar 81

Latin
A

s

French
B

%

German
C

S

Arabic
D

3Rl

Correct Ans : A

Subject : Mathematics

Q.No: 75 In Class III, a teacher teaches the addition of decimals, following ‘learning by doing method’. What will be the most suitable teaching activity?
2468438

HefT 111 7, Th Refp 'R YRa- 31 GG’ (learning by doing method”) BT SFERUN $Re GXWIed! BT AT Ramar 3 | a8 Sugad e mfafafiy oo gite

Abacus
A

I

Napier method
B

At fafy

Chart
(@

aé

All of the given options
D

fw e Wit e
Correct Ans : A

Subject : Mathematics

Q.No: 76 The importance of Diagnostic Tests is
2468481
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AT wdiemi &1 Hed §

In teaching
A

fRraror &

In counseling and guidance
B

RS 3 Anfext &

In arrangement of remedial teaching
C

SUARTES & 3 Faw §

All of the given options
D

fow @ Wt fawew

Correct Ans : D

Subject : Mathematics

Q.No: 77 Which of the following is/ are not the principle of Curriculum-construction of mathematics?
2468598

IR & A P 1 G P Ureg=ai ud Faf &1 Rigid 78 82

Integrity of theory with practice

A
T F ATy i Y erEsa
Principle of unit
B
ToTé o1 R
Should not be child-centric
C
arer i 7 g
The principle of preparation for life
D

St # Jard &1 Rigia

Correct Ans : C

Subject : Mathematics

Q.No: 78 Which of the following subject/s Mathematics is a part of?
2468599

Frofeiea & & #4 a1 faw 7T &1 us HT 82

Geography
A

g

Economics
B

S

Commerce
C

T

Geography, Economics and Commerce
D

i, SR o arforea

Correct Ans : D

Subject : Mathematics
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Q.No: 79 gl 1 .
3469691 The ratio of 36 months to 8; years is:

36 WER @ 8 A T ST ¢

11: 20
A

11:20

9:25
B

9:25

7:25
C

7:25

5:21
D

5:21

Correct Ans : B

Subject : Mathematics

Q.No: 80 The ratio of 99 paise to 3.96 rupees is:

2469698

99 94 | 3.96 TUA BT UM &:

1:2
A

1:2

1:4
B

1:4

2:1
C

2:1

1:3
D

1:3

Correct Ans : B

Subject : Mathematics

Q.No: 81 1£943+ 2x2— 3kx — 12 is divided by (x — 3), then remainder 1s k. find the value of k
2469910

g 2% + 2x2 - 3kx — 12 1 (x — 3) § FAWITSTT fovann ST B, O U & BiaT 21 k &1 7F J1d Sifeg |

&0
A

=)

&0

6
B

6

9
C
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Correct Ans : B

Subject : Mathematics

Q.No: 82 The function of a Math teacher is:

2475566
TN e o1 B 7
A teaching
fgror
B budgeting
CECCEIEIE
department works
C
faurfta e
D teaching and learning

Correct Ans : D

Subject : Mathematics

Q.No: 83 Which is not a major educational value of mathematics?

2475590 ﬁqmnﬁmmwu&@ﬁ%&mﬁ?
Utilitarian values

A St e
Disciplinary values

° SIRTHATHS e
Cultural values

c wiwp o e

D Irrationalism

Correct Ans : D

Subject : Mathematics

Q.No: 84 A child of Class III reads 482 as four hundred eighty two but writes it as 40082. What does this indicate for a teacher?

2476031 T 111 $T 0% o 482 I IR 1 SaRft & ¥  ygar § Al 39 40082 fored 31 ¥ 0o Rias & g a1 afar 82
Child is not attentive in the class and is a careless listener
A Tt Fall § DNew T 2 9K T AnRare s @
Child is a careful listener but has not established sense of place value
8 T TP AU ST 8, AP RIFT Gog B UTg=1 R 76t & uan g
Child is confusing the expression of number in expanded form and in short form
c T ST & i Y R F o e F i 4 veT 8
D Teacher should teach the concept of place value when the children are able to write numbers correctly

Rrers &Y TR A $Y SEURIT H 99 U T1T o g9 WA et & @ e A wew g
Correct Ans : B

Subject : Mathematics

Q.No: 85  Which sequence of mathematical symbols can replace * in the given equation:
2480977 gk 5%Q*3]

fau 71w gefieraor © wrfire geteR! @ i 91w F w afaenfa w1 g &
gESkQ*3]
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=, X, -
C

=, X, -

X, =, =
D

X, =, =

Correct Ans : D

Subject : Mathematics

Q.No: 86 Of the following, the main purpose of state certification of teachers is to

2481737
frofafed & 3 Rl F I THIvE 1 787 92 3

Monitor the quality of teacher training institutions

A Rvar wRarur e o8t o @ R w
Provide for a uniform standard of entry-level teacher competency throughout the state
8 ¥ T ® YA ®R P e AGar 1 TH G AES TG AT
Exclude from the profession those not trained in pedagogy
¢ I RN Y AR | 5% Y R e F wikiféra = faar mar @
D Exclude from the proqusit_)n those who_ are mentally unhealthy
St RS U d A § S U & aew aY

Correct Ans : B

Subject : Mathematics

Q.No: 87 According to Kilpatrick, the types of projects are
2481937 fFaURE & SIUR, WOIF F USR §

A
53
¢ 3
o

Correct Ans : C

Subject : Mathematics

Q.No: 88 The use of technology to enhance learning process is called
2482281

T &1 ufoha 3 9gM F g Wit & Iuan 1 e &

A IT
ICT
B
S
Information technology
C
I MRt
D Communication technology
AR

Correct Ans : B

Subject : Mathematics

Q.No: 89 A teacher asked his/her students to complete the following concept mapWith the activity in class, the teacher is using concept map

2482360

T e F oo BT § Fefifed sauRen aFfeE B @1 SRA & e wer wam & iafafy & 9, Riye srauRon amfaE w1 Iw R 61§

To enhance spatial ability of the learner so that she/he can see the complete unit as a whole

in education.

gl e g

Rignff # = emar F 5g@ F e aifs a7 78 sH1E ) I99 FU R 3@ IS

B To conduct formative assessment and to get insight on how much students have learnt
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TETHS Yedipd B & g 3R BT 7 fran drar @ 59 W sy wiw &< & g

To catch the attention of each student

C
TS B FT A S FA F g

D To provide different kinds of learning material
fafira yor @t Rugror arnht Sudsy

Correct Ans : A

Subject : Mathematics

Q.No: 90 “Problem solving” as a strategy of doing mathematics involves
2482648 . .
TG H=A P IUFIG & FU H e FEeE § ik §

activity based approach

A

wfafafyr smefika efdwion
B estimation

S(FAT

extensive practice
C

YD JE

using clues to arrive at a solution

e TETYH W UgT & T GRIT ST UGN FH31
Correct Ans : A

Subject : Mathematics

Q.No: 91 The International Solar Alliance (ISA), which has been launched to make an unprecedented effort to promote solar energy is joint initiatives of
2469460 \hich of the two countries?

SR IR Toger (ETHT), R IR ol &1 ggmar &7 F Y 1o sryryd T o3 & R T fovan T §, &9 9 < 30 3 3g9d e 82

China and India

A
A o WRa
India and USA
B
YR 3R quAY
Sweden and India
C
e ok WRa
France and India
D

Wi 3R YRa
Correct Ans : D

Subject : Environmental Study

Q.No: 92 Brackish water ecosystem are found-

2469750
@R gt 3 TikRRufee et 8-
Streams
A
Ll
Wetland
B
qaqd

Costal shallow area

Iy I &=

D Deltas
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3w

Correct Ans : D

Subject : Environmental Study

Q.No: 93 Which ecological pyramid is always straight?

2469779
o RfufiaTa fvifirs e e g &-
Pyramid of biomass
A
IR F1 fiRifs
Pyramid of energy
B
St o1 RIS
Pyramid of number
(@
e &1 fvifis
Pyramid of no and biomass
D

@ Td R 1 RRifrs
Correct Ans : B

Subject : Environmental Study

Q.No: 94 For EVS teacher, which fact needs more attention in a recently concluded discussion in the class?
2470349

<diay Rigres $ o, e F g1 & F GH g¢ Tl § fbg 9 W @H 37 B axear 87

Learners started questioning each after directly

A
fRrenfat 7 e gy | W vy Hew = e
Students started pointing out other mistakes in between the discussion
B
BE A w4t & & o Tafal #Y R S g
No one was in agreement with other’s point of view
C
H1¢ o gE B 9T F FEHd TE o
Students refused to listen to other class students completely
D

B A 3T FET S BT B T8 TwE F 1 A 3R W far
Correct Ans : A

Subject : Environmental Study

Q.No: 95 Pooja teaches EVS, while teaching she prefers to give problem-solving questions to students. By adopting, this method of teaching she aims to
2470411

ST SR UgId B, TEih Ugld TH 98 BT B THEN-GHIYM aTd WY ST UE HRe g1 ST Bt 39 UG BT TR BT 16T §

promote group-based learning

HYg-smuTia & #Y wgrar T

rote learning

IEHT AT

(o} application based learning
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SIWERT 3metia SRR

make students better in debate

faenf¥ial @t are-fare A sgar T
Correct Ans : C

Subject : Environmental Study

Q.No: 96 The secondary structures which are useful for day-today farm operations are called
2470543

fxfiae =TT S oSt & B Bl P o Iuahh €, deard §

Ancillary structures

A
HETD LT
Calving pens
B
HfRm =
Milking parlour
(@
o TR
Individual housing
D

fRTa Sar
Correct Ans : A

Subject : Environmental Study

Q.No: 97 The period 1981-1990 was celebrated worldwide as the International Decade of?
2470643

1981-1990 ¥t 37afd H R & s SiRiPa a2 & w0 F w7 T

Labour
A

4|

Women
B

Afgear

Children
C

T

Water and Sanitation
D

e SR et
Correct Ans : D

Subject : Environmental Study

Q.No: 98 Atropine used at the time of eye testing is obtained from the leaves of?
2472520

¥ TRIE0T & T Wad TSI fhaet uikEt & OTe faam S 82

Calotropis

Fagiw

B Cinchona
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Rt

Belladonna
C
ECISIE
Amla
D
3Her

Correct Ans : C

Subject : Environmental Study

Q.No: 99 What types of families are found in all societies of the world?
2472605

59 TR ¥ uRar fay & gt o 7 o e 82

Joint family

A
T aRaR
Wide family
B
forqa afiawr
Nuclear family or solitary family
C
i a1 TPpTat URaR
Mixed family
D
[LIECRITEI

Correct Ans : C

Subject : Environmental Study

Q.No: 100 RDA stands for recommended allowances
2472705
RDA &1 31 § Rewss SATSHY
Dose
A
R:Ed
Dietary
B
3R
Dairy
C
H
Vitamin D
D
fderfm b

Correct Ans : B

Subject : Environmental Study

Q.No: 101 The amount of energy by metabolism of one gram of carbohydrate.
2472848

1 I FIEEEST F TATET GRT fpa-t A6 # SHui w2t 7

A 4 calories
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4 Fart

5 calories
B

5 FaRt

6 calories
C

6 Hart

14 calories
D

14 Fart

Correct Ans : A

Subject : Environmental Study

Q.No: 102 It is necessary for body to digest food-

2472902
SRR F HioH Tam & R siavee §-
Air
A
gar
Water
B
Tt
Enzymes
C
T
Minerals
D
afe

Correct Ans : C

Subject : Environmental Study

Q.No: 103 Which of the following food should we eat less?
2472996

& 3 & § o 1 HivH SH T AERe?

Junk

P

Healthy

Y

Vegetables

ot

Fruits

wd
Correct Ans : A

Subject : Environmental Study

Q.No: 104 The earth’s axis is tilted at an angle of degrees.
2474039
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pdHig A IUREIIE D

19.55
A

19.55

21.35
B

21.35

23.45
C

23.45

25.65
D

25.65

Correct Ans : C

Subject : Environmental Study

Q.No: 105 In which year was the Juno Mission launched?
2474229

S o forw ol vafia forar Ut
2011

2011
2013

2013
2015

2015
2017

2017
Correct Ans : A

Subject : Environmental Study

Q.No: 106 Which of the following planets doesn’t have a single moon?
2474237

Fafafed ¥ @ frw we &1 o ot e T 82

Mercury

q4

Mars

WA g

Jupiter

gewfa

Neptune

AT

Correct Ans : A

Subject : Environmental Study
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Q.No: 107 Clayey soils are -
2475829
1. Rich in humus
2. Very fertile

Choose the correct code -

o g -
1.5999 ¥ IR
2.95d TS

el Fe BT =G BIfoTg-
Only 1

Had 1
Only 2

Had 2

Both 1 and 2

1 3R 2 @

Neither 1 nor 2

a1k 2

Correct Ans : C

Subject : Environmental Study

Q.No: 108 Farmers with small holdings of land do the separation of grain and chaff by
2475868

B NG A fHAE T 3R &t Y 3T R 7

Winnowing

wIes & (faAgm)

Ploughing

garé

Hand picking

T
Churning

Tars
Correct Ans : A

Subject : Environmental Study

Q.No: 109 Where is the Central Arid Zone Research Institute situated?
2475981

Fa TP & U TR Hel fRud 32
Rajasthan
A
RERIE]
West Bengal
B

uf¥w s
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Madhya Pradesh

C
TR
Haryana
D
TATT

Correct Ans : A

Subject : Environmental Study

Q.No: 110 Vishu is celebrated in which state?

2476440
fogy v g o T ST 82
Assam
A
_qH
Kerala
B
e
Maharashtra
C
HERTY
Punjab
D
LEIct

Correct Ans : B

Subject : Environmental Study

Q.No: 111 Bir Chilarai Divas is celebrated in which state of India every year?
2476491

IR faRT ey &R Id YR F 59 Isa § g=mn S 32

Odisha
A
SifE=m
Andhra Pradesh
B
i R
Assam
C
3|
Uttar Pradesh
D

JR U
Correct Ans : C

Subject : Environmental Study

Q.No: 112 The term “free throw” is associated with which sports?
2476502

"I A" Weg T ey R T T B2

Hockey

et

B Cricket
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frdbe

Football
C
Geara
Basketball
D
SFeara

Correct Ans : D

Subject : Environmental Study

Q.No: 113 Which among the following is the largest cricket stadium in the world?
2476635

Fofifad & 3 fay o1 ge 1 fbde wRisaw o1 w82

Melbourn cricket stadium

A
faa frde RiSTw
Eden Garden
B
ECERICE]
Narendra Modi Stadium
C
g At wfgTm
Perth Stadium
D

o Rfggw

Correct Ans : C

Subject : Environmental Study

Q.No: 114 Which teams had shared the title of the ICC Champions trophy in 2002?

2476651
2002 & 7S, T Y. A T o1 R fovw dm = T far are
Australian and England
A
sire R ok $is
India and Sri Lanka
B
R 3R et
India and Pakistan
C
R 3R W
Australia and New Zealand
D

TR 3R geitds
Correct Ans : B

Subject : Environmental Study

Q.No: 115 Which approach is known as learning through actions, learning through experiences and learning through reflection on doing?
2477206

foranaft & memm I Wrem, ergyal & At § W o fhareit td ey W RidH & mem ¥ ¥en & B 1 SR =R & wU & S o 87

A Inquiry approach
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TEare e

Problem solving approach

B

T FHTYH R

Cooperative learning approach
C

HEPRY BT

Experiential learning approach
D

THATHS DI
Correct Ans : D

Subject : Environmental Study

Q.No: 116 Which of the following is true when it comes to making an effective lesson plan?
2477359

S TS YHTE IS FIoHT §91 @1 &1 ot € o Fofefed & @ a9 s a2

Letting the students know about what they will be learning is not advisable..

A
B S Tg gaH1 5§ T AN, 78 IR T ¥
Time is a resource that is the most scarce and finite.
B
T TS T B o Tad gy SR Wit @
There should be no reflecting back on failed lesson plans.
(@
3B UTS FIeHISH IR IS fIar T8 &1 ey
There should be no obligation to develop a conclusion and preview for the learners.
D

Rugnffat & R o Freed ik gafadie Aeka w33 & Rig 91 aife 76§ aive

Correct Ans : B

Subject : Environmental Study

Q.No: 117 Mark the correct statement regarding reforestation.

2477805

YAIRIUT & ey F & HY B Rfgd w0

It is restocking the destroyed forests by planting new trees
A

Tg Y IS AR Y G STl B 5T q wAT R

It is the process of resettlement of more tribal populations in forest areas
B

g a1 &5 A e STt SaTd) & yate @ uftea @

It is the process of removal of weeds from forests
C

Tg g A TRUGIRY $Y g B uidhar @

It is the process of destroying forests for urbanisation
D

g e F T o=t B T8 H B ufpar @

Correct Ans : A

Subject : Environmental Study

Q.No: 118 The decrease in temperature in the atmosphere with the increase of altitude is known as what?
2477898
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SIS I & WY agHSH B argEH H HH Bl 3T YT Sl 82

Positive lapse rate

A
YTHD FTH-R
Negative lapse rate
B
BUTHSD FH-R
Increasing lapse rate
(@
el FrE-E
Decreasing lapse rate
D

ed -aY
Correct Ans : A

Subject : Environmental Study

Q.No: 119 Which of the following is the largest natural source of water?
2478044

ol # 9 SF 9d 31 994 991 WIpiae 9 87

River water

A
&t BT U
Sea water
B
TS BT
Springs
C
wiat (f8r)
Lakes
D
Bl

Correct Ans : B

Subject : Environmental Study

Q.No: 120 What are/is the approaches/approach by the teachers while using ICT in education?
2478559

1. Technology literacy approach

2. Knowledge deepening approach

3. Knowledge creation approach

Choose the correct code -

fRremm B G Ud TR M BT IUET HRa T Rierd! gR1 eI @ g1 =ifee?
1. Mt wreRar Ef¥eio

2. M T eI

3. I o eI

el PIs g -

Only 1 and 2

Fad 1 3R 2

Only 2 and 3

Faq 2 3R 3
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Only 1 and 3

C
Fad 1 3R 3
1,2and 3

D
1,29R3

Correct Ans : D

Subject : Environmental Study

Q.No: 121 Motor development is related to-

2473566
o I o1 ¥ey § -
Intellectual development
A
Hfee fwm
Muscles development
B
wigusita e
Mental development
C
i e
By activities
D

forareemal 3
Correct Ans : B

Subject : Child Developement

Q.No: 122 The most important factor in the physical development of children is--
2473569

=i & RS R  Tod el uew 2-

Exercise

qrTH

Cleanliness

HE

Nutrition

Tyor

Sleep

e

Correct Ans : C

Subject : Child Developement

Q.No: 123 Heredity is the distribution of cell.
2473657
=22 AR IS BT fIaRor 31
Neurons
A

B Cartilage
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Germ
C

dte

Nerves
D

ElECa

Correct Ans : C

Subject : Child Developement

Q.No: 124 Heredity is a transfer of physical and mental characteristics of parents to their children- This definition is given by-
2473659

AT fdr B RIS T AR fRvared o1 Tt § SR ST GRIMBH § - T8 URHIT ..o CRAN R

Hurlock

IAuicg

Crow & crow

1 TUS Bl

James Drawer

S SR

Wood worth

gead

Correct Ans : C

Subject : Child Developement

Q.No: 125 This is not the responsibility of parents -

2473801
Tg AT & fomert 78 gk § -
Maintaining strict discipline for children
A
T B FOR IR A I
Adequate child rearing practices
B
T BT 3R YSR | UTe=-UI90r He=1
To develop healthy habits
C
I et 1 R HeT
Providing good educational facilities
D

St e Y sgawAT HIAT
Correct Ans : A
Subject : Child Developement

Q.No: 126 According to Freud, there are parts of mind.
2473803
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Four
B

IR

Three
C

@

Six
D

o

Correct Ans : C

Subject : Child Developement

Q.No: 127 Which one of the following optimizes motivation to learn?
2474394

Frofaed & 3 SiH-a1, TR 3 IRoT § YUR HRaT 82

tendency to choose very easy or difficult goals

A
TEd M T HfSA A& BT 997 I3 $T ugfer
personal satisfaction in meeting targets
B
aeg gui g & faTa ey
extrinsic factor
C
ST PRSP
motivation to avoid failure
D

farwear & g9 &1 IRow
Correct Ans : B

Subject : Child Developement

Q.No: 128 Piaget’s stages of cognitive development fall in which order?
2474555

o & TS e & TR0 59 BH F o 82

Sensorimotor, preoperational, concrete operations, formal operations

A

JaieteR, MR, dle AR, Biid TR

Preoperational, concrete operations, formal operations, sensorimotor
B

MR, Fovle AR, Bidd TR, FaRmex

Sensorimotor, preoperational, formal operations, concrete operations
C

JaivteR, MeTwrd, Bifd TR, dwie siueR

Preoperational, sensorimotor, concrete operations, formal operations
D

ez, FaRwies, Hwie TR, Bia ST
Correct Ans : A

Subject : Child Developement

Q.No: 129 Individual differences within a class are best handled by
2474571
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el H GRS ATNG Bl 3} TRE F JUTEAT STl §

Coaching slow children after school

A
Tpa & a1g it wfy & o= o) afieror
Giving the bright students free reading time
B
TIRMR B! & YU YA &1 w8y 31
Peer tutoring
(@
Wl P ugr
Organizing groups for specific purposes
D

fafry St & forg wgEl o1 smite
Correct Ans : D

Subject : Child Developement

Q.No: 130 Kohlberg’s moral development stages are closely related to-
2474572

Frae F e e & TR Fed §-
Freud’s psychosexual stages
A
WIS & AAIGRIS axor
Piaget’s cognitive development stages
B
forar & Ay e & W
Erikson’s psychosocial stages
C
TR & FEIE 9v0T
Sullivan’s interpersonal stages
D

gferaT & uRER® T

Correct Ans : D

Subject : Child Developement

Q.No: 131 Excessive emotional attachment of a son for his mother
2475326

TH 9 1 3O A B Ul S6¢ IS aa
Electra Complex
A
AT Prea
Oedipus Complex
B
NfEuw HirdT
Inferiority Complex
C
B T BT
Superiority Complex
D

gRfaid siaw
Correct Ans : B

Subject : Child Developement
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Q.No: 132 The question given below has an Assertion (A) and a Reason (R).
2475486

Assertions (A): If a problem is associated with any individuals personal characteristics or his overt behavior, we need to accumulate as much
correct information concerning him as is possible

Reason (R): This information is arranged in and orderly form, so that a reasonably adequate evaluation of all the factors of influence can be
achieved.

=i 3T Tu vy & T FHUF (AR R BR (R) feam mar 1

SUFYT (A): A HIS g ot safea @t safeara fARwarsh a1 SU% Yo FaER A It B, O 58 SUP IR H JURIHT It TGN T IR B JATaRadhdl §

BRI (R): I8 STHHR! AafRYd R Tafyd U & 8, difes TH1d & Tt BRe! o1 IR T § Yol Yedich-T Ui fbar o §ab |

Both A and R are true and R is the correct explanation of A

A
A 3R R 3 9 § SR R, A &1 HE ST Far §
A is true, but R is not the correct explanation of A
B
A T B, AP R, A I HE e TE v @
A is true, but R is false
C
ATER, AT R TR
A is false but R is true
D

AFOTE AT RTT R
Correct Ans : B

Subject : Child Developement

Q.No: 133 Which of the following is a form of Sternberg’s Triarchic Theory of Intelligence?
2476097

Frafafed ¥ § eF-u1 el & grenfde sfeua &1 RS #1 1 URey g2

Practical Intelligence

A
aeIRe gigwar
Experimental Intelligence
B
TR gfgwar
Resourceful Intelligence
C
Ty g gfamar
Mathematical Intelligence
D

frd gigwar
Correct Ans : A
Subject : Child Developement

Q.No: 134 Some children are more active than others from
2476165

.................... F PRU B 5 37 § 3ifIb Wihg ed T

environment factors

et wdht sRe

B psychological factors
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IS FRB

hereditary factors

ST FRE

social factors

AHING PR

Correct Ans : C

Subject : Child Developement

Q.No: 135 Analyze the statements and chose the correct options
2476192
Statement (i): Habit patterns of a child is developed without awareness, through his interaction with his environment

Statement (ii): A child develops behavior pattern and attitude towards self and others through trial and error response

Fafifad Fu o1 fazyu #R g faswedl &7 797 B
HY (i): fo 5= B 3ed Yot 471 STReddT & ARG ¥ R -3y B g fawRid giar &
B (ii): T T AR IR TSR & W A wWH & 0l 3R g F Uy o 3R Yt ok ey AR B ¥

Both the statements are true

A

A P T §

Both statements are false
B

B T a2

Statement (i) is true and (ii) is false
C

FUA (i) T B AR (i) T

Statement (ii) is true and (i) is false
D

P (i) WS § 3R (i) T ?
Correct Ans : A
Subject : Child Developement

Q.No: 136 Who play an important role to help children grow into well adjusted individuals with integrated personalities?
2476194

ol =2 @1 FAfed afdkia & WY ol TRE A safed & w0 # fowfid H | ot ayffrept wewaguf g1t 82

school teachers

A
faemera & e
nursery teachers
B
T8 F g
college teachers
C
Pras & e
parents
D
wrar-far

Correct Ans : B

Subject : Child Developement
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Q.No: 137 If a child is aggressive and learns that this behavior makes him unpopular, he
2476195

3R DY T 3MhTHD WHIG BT ¢ 3R J1d 8T & b T8 3R I el s § ol a8

curls his aggressiveness and change his behavior and becomes friendly

A
3T STHTHFAT Y FH HRAT § AR AU HIGR Fgadl § AR ReaR aa 3
feels vindictive of people around him
B
ST & &N & Wi wfarsisdt yre=n weqy wvar @
goes recluse
C
e & e @
becomes more aggressive
D

M IATHTHS B oIIeT &
Correct Ans : A

Subject : Child Developement

Q.No: 138 A child’s language development depends on ....... factors
2476337

& S B UV BT BN ...... FRS R AR a1 8

educational

A
e
biological
B
Sfaw
social
(@
rATfeT®
all of the given options
D

few o @t fawew

Correct Ans : D

Subject : Child Developement

Q.No: 139 Science and Art exhibitions, music and dance shows and bringing out school magazines, are meant to
2476376

T 3R Far g, Tiia ok T SriwH iR T uRSTE e &1 Adas &

establish a name for the school

A

pa & fore uw A wifa &

satisfy the parents
B

ATa1-far $Y HgE HY

provide a creative channel for learners
C

Rignfat & forg ver aefrers 399 we H¥

train students from various professions
D

fird syl & o1l 1 uikifdE oY

Correct Ans : C
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Subject : Child Developement

Q.No: 140 What is necessary for optimum growth and development of the child?
2477475

Tt B Y I SR e F R @ sifiard 82

Proper medical care of the parents

A
wrar-frer 1 adifRe wWwea @y
Immunization and early diagnosis of the mother
B
HT FT APTHR R FHG 5 A
Cure of deficiencies and disease and proper immunization
C
Huw Tt $Y T R A7 31 e wd adfiE S
Healthy nutrition
D

R} Tup

Correct Ans : C

Subject : Child Developement

Q.No: 141 The fluid that fills the sack in which the embryo is present is called
2477482

I8 5d O 39 deft Y Rl & FEH 301 g 7, S He Wl &

Amniotic fluid

A
wfEiRs 5@
Neurotic fluid
B
s @
Biotic fluid
(@
Irfe® 7@
None of the given options
D

g g fawent & @ #1E T
Correct Ans : A

Subject : Child Developement

Q.No: 142 Which of the following is NOT a physical movement disability?
2478161

FrafifEd & 3 o1 te TR T s T8 82

Locomotor disability

A
dipHrex fageimar
Autism spectrum disorder
B
Siifewy TWaew f¥qailsy
Leprosy cured disorder
C

8 I Farv fier

D Celebral palsy
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af&rss gemara
Correct Ans : B

Subject : Child Developement

Q.No: 143 Which of the following is NOT a major cause of visual impairment?
2478243

ol & 3 SH-1 =8 It &1 THE $RO T 82

Vitamin A deficiency

A

faerf T &t &t

Glaucoma
B

Piafdg

Congenital cataracts during pregnancy
(@

TufaRn & R ST A

Structural defects in the palate mouth
D

g g § R o
Correct Ans : D
Subject : Child Developement

Q.No: 144 Arthritis is defined as pain in joints that
2478247

i)Reduces range of motion

ii)Causes weakness

Choose the correct code

ST BT Siel # &8 =g H gRuI fovar o € i
i) A & faIR B HH a1 &

ii) S BT BRUT &Fell &

Tl ge T -

i) only

i) Paa

ii) only

i) ¥aq
both i) and ii)

ol i) @R i)

Neither i) nor ii)

T i) T i)
Correct Ans : C

Subject : Child Developement

Q.No: 145 The teacher watches that a boy, M, faces difficulty in sitting, standing or walking and has some kind of deformity in his legs. Which of
2478330 the following actions the teacher should take?

e T@a § 1 U a1, M, I67, TS 811 T1 9a- H $HISHTS BT I Il 3 3R I R A ot vpR 3 fapfa 31 Rierep o) Frofoied & @ s9-w &k
AT FIGE?
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The teacher ignores it as it was a problem of the boy from his birth.

A
g 38 ARSI FX $ RP I8 TP T4 A § d5F ot quar
He brings the matter to the notice of the friends of M
B
98 WA Bl M F Gl & W A o
He gets the boy examined by an ophthalmologist
C
qg TS A7 I Ay A A8 B o HRaAg
He gets the boy examined by a qualified orthopaedic surgeon
D

98 TS 1Y IMUTAfE® Toiq gRT d8d P &g BN
Correct Ans : D

Subject : Child Developement

Q.No: 146 Socially and Culturally Backward Children mostly lack verbal abilities. Which of the following is/are the reason behind this?
2478444

i) They have very less vocabulary

i) They are not allowed to talk freely in the school

Choose the correct code

TR IR TRPlie FU F e 7= § SR Niee amdel H1 v 2T 81 59 1w Fufifed & 3 oF-w1 oru 3/32
i) ST UIY §gd B Usaraal §

i) 3% W ¥ WdT T A 910 $A BT AR T 3

e PIS IH

i) only

i) ¥aq
ii) only

i) daa
Both i) and ii)

i) 3% i) S

Neither i) nor ii)

T i) T i)
Correct Ans : A

Subject : Child Developement

Q.No: 147 When a desired response is reinforced every time it occurs, it is known as which of the following?
2479218

Y% IR W9 difed srferar ufed gt ¥ 99 I yee faar o 3 o 59 99 4 ded 17

Partial Reinforcement

A

i1 yae

Continuous Reinforcement
B

Had gge

Delayed Reinforcement
(@

facifea waes
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Forward Reinforcement

Sl SrET
Correct Ans : B

Subject : Child Developement

Q.No: 148 When the Conditional Stimulus and Unconditional Stimulus are presented together, it is called
2479237
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Simultaneous conditioning.

A
AP SIaUH
Delayed conditioning
B
faeifea ergae
Trace conditioning
C
SARY YT
Backward conditioning
D

YT SrgaY
Correct Ans : A

Subject : Child Developement

Q.No: 149 Connectivism believes that new behaviours result from the acquisition of new bonds through which of the following?
2479316
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Experience

A
3HaT
External Agency
B
aTedt TRt
Introspection
(@
JreAfrtaror
Greed
D
GIGE]

Correct Ans : A

Subject : Child Developement

Q.No: 150 Socialization of child is done in such a way, so as to expect them to-
2480663
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Accept what they are offered irrespective of their social background

I FrETIE g4 F aravg I it it 3 fbar o 8, S8 WieR By

Prepare themselves to conform to the rules and regulations of society without questioning

T waTa fre e & Frawl ok ST & Y Qe $ FAR ST

C Learn how to score good grades
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3 VS TR BT AgAT

Be an active participant in the group work and learn social skills

g $1d | Afhg urfigr a9 ok wriiie siwra dE

Correct Ans : D

Subject : Child Developement
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